| Date | Questionable Work Description | Billable Rate | Total Hours | Total Amount |
|----------|---|---------------|-------------|--------------|
| 04/18/05 | Study/analysis email from Mr.Sutherland with proposed draft model for RTFC related litigation | \$425.00 | 0.40 | \$170.00 |
| 04/18/05 | Study/analysis: (iv) Entered Third Stipulation and Order for Enlargement of Time for Official Committee of Unsecured Creditors and Official Committee of Excel IRs to Assert Claims Against RTFC | \$425.00 | 0.10 | \$42.50 |
| 04/18/05 | Work on matters fee application review, including RTFC investigation v. RTFC litigation. | \$185.00 | 1.50 | \$277.50 |
| 04/18/05 | Study/analysis (iii) entered Order approving joint stipulation of Carrington, Coleman, Sloman & Blumenthal, LLP and White & Case LLP regarding RTFC Investigation payments | \$425.00 | 0.10 | \$42.50 |
| 04/22/05 | Service of Process of: Notice of Fifth Request for Payment of Fees and Expenses of Fulbright & Jaworski LLP as Attorneys to Lender; called and emailed R. London regarding uploading order; received his approval and reviewed order prior to uploading; drafting correspondence letter regarding the same. | \$185.00 | 1.90 | \$351.50 |
| 04/25/05 | Attended Committee conference call regarding Unipoint, RTFC litigation financing, and take notes regarding the same. | \$185.00 | 1.20 | \$222.00 |
| 04/26/05 | Discussed with S. Goodwin the going forward need to record time for RTFC Litigation (.2); sent out email to the VarTec CCSB regarding the same (.4); sent out email to the VarTec CCSB regarding notifying XRoads of RTFC specific litigation (.4). | \$185.00 | 1.00 | \$185.00 |
| 04/28/05 | Email regarding objection deadline regarding Canada | \$100.00 | 0.10 | \$10.00 |
| 04/28/05 | Quickly read the amended employment application for the beginning date of RTFC investigation | \$185.00 | 0.10 | \$18.50 |
| 05/02/05 | Study/analysis (i) entered Order Setting Expedited Hearing on the Supplemental Application for Approval of the Employment of Carrington Coleman Sloman & Blumenthal, LLP Pursuant to 11 USC Secs. 328(a) and 1103(a) as Special Counsel for the Official Committee of Unsecured Creditors to Prosecute the Estates' Claims Against Rural Telephone Finance Cooperation | \$425.00 | 0.10 | \$42.50 |
| 05/02/05 | (iii) Draft Supplemental Application for Approval of the Employment of Carrington Coleman Sloman & Blumenthal LLP pursuant to 11 U.S.C. Secs. 328(a) and 1103(a) as Special Counsel for the Official Committee of Unsecured Creditors to Prosecute the Estates' Claims Against RTFC; (iv) Exhibit A to same (.5); (vii) email from Mr. Sutherland to Messrs. Wallander, Gerber, Stewart, Lee, Cunningham and Averch transmitting supplemental application (.2); (viii) email from Ms. Davis advising that Judge Felsenthal will hear the Supplemental Application regarding CCSB; (ix) email from Mr.Sutherland to Committee advising them of hearing on application (.1); (xi) email from Mr. Sutherland regarding supplemental application issues; email response to Mr. Sutherland regarding same (.1). | \$425.00 | 0.90 | \$382.50 |
| 05/03/05 | (iii) email from Mr. Covin regarding draft Order re Supplemental Application; (iv) draft Final Order Pursuant to Sec. 328(a) and 1103(a) of the Bankruptcy Code Approving the Supplemental Application for Approval of CCSB as Special Counsel for the Official Committee of Unsecured Creditors to Prosecute the Estates' Claims Against RTFC; revise same. | \$425.00 | 0.40 | \$170.00 |
| 05/03/05 | Attended and took minutes of conference call regarding RTFC litigation, Unipoint Committee status, and the filing. | \$185.00 | 1.50 | \$277.50 |
| 05/03/05 | Review and edit the complaint for the RTFC litigation. | \$185.00 | 1.30 | \$240.50 |
| 05/03/05 | Study/analysis memorandum regarding possible recovery of prepetition setoffs | \$425.00 | 0.30 | \$127.50 |
| 05/03/05 | Draft proposed Order approving CCSB's supplemental application for employment as special counsel for the Committee. | \$220.00 | 2.10 | \$462.00 |
| 05/04/05 | Discuss sale with R. Ragni (3); discuss sale with R. Ragni (.1); review comments on contract of sale (.3). | \$390.00 | 0.70 | \$273.00 |
| 05/04/05 | Review memos on potential claims. | 390.0 | 0.20 | \$78.00 |

| Date | Questionable Work Description | Billable Rate | Total Hours | Total Amount |
|----------|---|---------------|--------------------|--------------|
| 05/04/05 | Study/analysis (i) email from Mr. Tierney regarding conversation with Mr. Gerber agreeing to extend time to file RTFC lawsuit to 5/25/05; (ii) email response from Mr. Sutherland regarding same; conference with Mr. Greendyke requesting early mediation concept; email to Mr. Tierney regarding same (.2); study/analysis (i) email reply from Mr. Tierney regarding same (ii) email from Mr. Greendyke confirming that Mr. Gerber will recommend mediation; (iii) email response from Mr. Youngman regarding same (.1); (v) email from Mr. Gerber regarding extension; (vi) draft Fourth Stipulation and Order for Enlargement of Time for Official Committee of Unsecured Creditors and Official Committee of Excel IRs to Assert Claims Against RTFC and Non-Binding Mediation of Such Claims (.2). | \$425.00 | 0.50 | \$212.50 |
| 05/05/05 | Update calendar to reflect continuation of our supplemental employment application and deadline for filing claims against RTFC. | \$260.00 | 0.30 | \$78.00 |
| 05/05/05 | Review agreements on Mexican sale and draft memo (.4); review revised order on Canadian sale with contract (.8); call to R. London to discuss questions (.1); discuss approval with S. Goodwin (.2); review and revise memorandum on Mexican asset sale (.2); review contract and comments (.1); call to D. Babin regarding contract with S. Goodwin (.1); discuss carve out language with J. Covin (.1). | 390.0 | 3.20 | \$1,248.00 |
| 05/05/05 | Study/Analysis: (1) Draft Fourth Stipulation and Order for Enlargement of Time for Official Committee of Unsecured Creditors and Official Committee of Excel Independent Representatives to Assert Claims Against Rural Telephone Finance Cooperative and Regarding Non-Binding Mediation of Such Claims; Telephone call to Mr. Gerber regarding same (.2); e-mail to Committee regarding extension of time to file lawsuit and proposed mediation (.1) Study/analysis (i) email from Mr. Sutherland regarding mediation proposal; (ii email response from Mr. Youngman regarding same (.1); study-analysis (i) email from Ms. Miller to Committee Members and members' counsel advising of the extension of deadline to file complaint against RTFC to 5-25-05 and continuance of Supplemental Application to 5-12-05 at 9:00 a.m. (.1). | \$425.00 | 0.50 | \$212.50 |
| 05/06/05 | Study/analysis (i) entered Fourth Stipulation for Relief with Respect to the Motion of the Official Committee of Excel Independent Representatives for Entry of an Order Pursuant to 11 U.S.C. Sec. 105(a) Modifying the Court's 12-9-04 Order and Extending Sunset Provision on IR Committee Appointment, Etc. (.1); email from Mr. Sutherland regarding mediation (.3). | \$425.00 | 0.40 | \$170.00 |
| 05/06/05 | Study/analysis memorandum regarding possible recovery of prepetition setoffs | \$425.00 | 0.30 | \$127.50 |
| 05/09/05 | Study/analysis (i) Notice of Continue Hearing; (ii) Amended Outline of Hearing Regarding Supplemental Application regarding RTFC litigation. | | | , |
| 05/09/05 | Study/analysis (i) email from Mr. Sutherland to Committee Members regarding potential mediation; participate in conference call with Messrs. Youngman and Grogan recommending proposed mediators; telephone calls with Mr. Youngman regarding further comments on mediators. | \$425.00 | 0.40 | \$170.00 |
| 05/09/05 | Study/analysis (i) Notice of Continue Hearing; (ii) Amended Outline of Hearing Regarding Supplemental Application regarding RTFC litigation. | \$425.00 | 0.10 | \$42.50 |
| 05/09/05 | Study/analysis Motion to Determine Bell South's Ability to Effectuate Setoff, Withhold Debtors' Funds, and Compel Compliance with Carriers' Stipulation; telephone call with Mr. Wallander regarding Bell South's setoff issues | \$425.00 | 0.90 | \$382.50 |
| 05/10/05 | Study/analysis clean and black lined revised draft of Final Order Pursuant to Secs. 328(a) and 1103(a) of the Bankruptcy Code Approving the Supplemental Application for Approval of Employment of Carrington Coleman Sloman & Blumenthal as Special Counsel for the Official Committee of Unsecured Creditors to Prosecute the Estates Claims Against RTFC. | \$425.00 | 0.30 | \$127.50 |

| Date | Questionable Work Description | Billable Rate | Total Hours | Total Amount |
|----------|---|---------------|-------------|--------------|
| 05/10/05 | Study/analysis (i) email from Mr. Sutherland transmitting to Committee proposed mediators; (ii) email response from M. Farrell regarding same; (iii) e-mail reply from M. Sutherland regarding same (.1); telephone call with Mr. Gerber regarding IR settlement plan issues, RTFC/Committee mediation and related matters (.2). | \$425.00 | 0.30 | \$127.50 |
| 05/10/05 | Review setoff motion filed by Debtor with respect to BellSouth | \$260.00 | 0.20 | \$52.00 |
| 05/11/05 | Participate in conference call with Messrs. Youngman and Sutherland regarding list of proposed mediators; study/analysis e- mail from Mr. Sutherland regarding same; e-mail to Messrs. Gerber and Greendyke proposing list of proposed mediators; telephone call with Mr. Gerber regarding same (.4). | \$425.00 | 0.40 | \$170.00 |
| 05/11/05 | Telephone call with Mr. Averch regarding IR Committee's review of complaint against RTFC in connection with unsecured Creditors' Committee's supplemental application; telephone call from Mr. Averch regarding his compliments on quality of complaint and confirming that IR Committee does not oppose entry of supplemental application (voice mail). | \$425.00 | 0.40 | \$170.00 |
| 05/11/05 | Study/analysis email from Mr. Ellerbe regarding carrier setoff issues; email response to Mr. Ellerbe regarding same; study/analysis email reply from Mr. Ellerbe regarding same; email response to Mr. Ellerbe (.1) | \$425.00 | 0.10 | \$42.50 |
| 05/11/05 | Emails all Committee emails regarding mediators and other administrative concerns. | \$185.00 | 0.20 | \$37.00 |
| 05/13/05 | Court approval of supplemental employment application regarding RTFC litigation. | \$425.00 | 0.30 | \$127.50 |
| 05/13/05 | Participate in Committee conference call regarding court approval of supplemental employment application regarding RTFC litigation; mediation status; formulation of mediation sub-committee (1.6); email response to Mr. Greene confirming conference call regarding status; study/analysis email reply from Mr. Greene regarding same; email response to Mr. Greene regarding same; study/analysis email reply from Mr. Greene regarding same (.1). | \$425.00 | 1.70 | \$722.50 |
| 05/13/05 | Service of Process for: 4) Motion to Determine BellSouth's Ability to Effectuate Setoff, Withhold Debtors' Funds, and Compel Compliance with the Carrier's Stipulation | \$185.00 | 0.10 | \$18.50 |
| 05/13/05 | Preparation for meeting; hearing on Committee's Supplemental Application to Employ CCSB on contingent fee basis for purpose of litigation against RTFC; upload proposed order approving same. | \$425.00 | 0.90 | \$382.50 |
| 05/13/05 | Research regarding BellSouth setoff issues (3.8; report on setoff research findings (.1). | \$185.00 | 3.90 | \$721.50 |
| 05/16/05 | Study/analysis (i) entered Final Order Pursuant to Secs. 328(a) and 1103(a) of the Bankruptcy Code Approving the Supplemental Application for Approval of the Employment of Carrington Coleman Sloman & Blumenthal LLP as Special Counsel for the Official Committee of Unsecured Creditors to Prosecute the Estates' Claims against RTFC. | \$425.00 | 0.10 | \$42.50 |
| 05/17/05 | Study/analysis email from Ms. Miller regarding mediation; conference with Mr. Sutherland regarding mediators; participate in conference call with Messrs. Youngman and Grogan regarding possible mediators (.4); email to Messrs. Youngman, Grogan and Sutherland transmitting proposed mediators; telephone conference from Mr. Youngman regarding reducing list to 4 candidates; discuss same; email to Messrs. Gerber and Greendyke transmitting proposed mediators (.3) | \$425.00 | 0.70 | \$297.50 |

| Date | Questionable Work Description | Billable Rate | Total Hours | Total Amount |
|----------|--|---------------|-------------|--------------|
| 05/19/05 | Preparation for meeting; Chair meeting of VarTec team to review and coordinate status of RTFC mediation issues. | \$425.00 | 0.20 | \$85.00 |
| 05/19/05 | Status of RTFC mediation issues. | \$425.00 | 0.30 | \$127.50 |
| 05/23/05 | Telephone call with Mr. Gerber regarding mediators; participate in conference call with Judge Isgur and Mr. Gerber regarding availability to mediate RTFC litigation matter (.2). | \$425.00 | 0.20 | \$85.00 |
| 05/24/05 | Prepared for and attended conference call with the Committee regarding RTFC and D&O investigation. | \$185.00 | 1.20 | \$222.00 |
| 05/24/05 | Study/analysis: (ii) draft Fifth Stipulation and Order for Enlargement of Time for Official Committee of Unsecured Creditors and Official Committee of Excel Independent Representatives to Assert Claims Against RTFC and regarding Non-Binding Mediation of Such Claims; telephone call with Mr. Gerber regarding same; discuss new deadline for stipulation and mediation issues; study/analysis email response from Mr. Cunningham regarding same. | \$425.00 | 0.30 | \$127.50 |
| 05/24/05 | Telephone call with Mr. Gerber regarding same; discuss new deadline for stipulation and mediation issues; study/analysis email response from Mr. Cunningham regarding same. | \$425.00 | 0.20 | \$85.00 |
| 05/25/05 | Study/analysis: extension of time to file RTFC lawsuit to 7/6/05. | \$425.00 | 0.10 | \$42.50 |
| 05/25/05 | Telephone call with Mr. Gerber regarding stipulations on extension of sunset and time to file litigation against RTFC and related matters. | \$425.00 | 0.10 | \$42.50 |
| 05/26/05 | Telephone call from Mr. Gerber regarding mediation; participation in conference call with Judge Isgur's law clerk regarding available time for mediation in first 2 weeks of July - one day mediation. | \$425.00 | 0.20 | \$85.00 |
| 05/26/05 | Email from Mr. Gerber confirming with Judge Felsenthal's chambers that Stipulation to extend sunset and time to file lawsuit against RTFC were signed by Judge Felsenthal; email response to Mr. Gerber regarding same. | \$425.00 | 0.10 | \$42.50 |
| 05/27/05 | Study/analysis (i) entered Fifth Stipulation and Order for enlargement of time for official committee of unsecured creditors and official committee of Excel Independent Representatives to assert claims against RTFC and Regarding Non-Binding Mediation of Such Claims. | \$425.00 | 0.10 | \$42.50 |
| 05/31/05 | Review, analyze and discuss issues regarding Bell South offset claims with. Salisbury. | \$390.00 | 0.50 | \$195.00 |
| 05/31/05 | Review BellSouth's response to Debtors' Motion to Determine Ability to Effectuate Setoff. Conferences with Don Hanmer and Jonathan Covin regarding same. | \$260.00 | 2.00 | \$520.00 |
| 05/31/05 | Study/analysis (i) BellSouth Telecommunications, Inc.'s Response to Debtors' Motion to Determine Ability to Effectuate Setoff and to Obtain Other Relief with attached exhibits. | \$425.00 | 2.60 | \$1,105.00 |
| 05/31/05 | Received email regarding mediation sent to sub-committee regarding ability to attend mediation in Houston | \$185.00 | 0.10 | \$18.50 |
| 05/31/05 | Participate in conf. call with Judge Isgur and Mr. Gerber scheduling mediation for RTFC lit. on 7/11/05; call from Mr. Gerber regarding preparation of mediation paper and deadlines for delivery to Judge Isgur; discuss confirming availability of client and Committee reps (.4); call with Youngman re mediation issues (.3); email to Short, Booth, Morgan Youngman, Grogan, Cohen and Eagle advising the date scheduled for early mediation on Monday July 11 and requesting confirmation of availability; study/analysis (i) email response from Morgan re same; (ii) email response from Booth re same; (iii) email response from Ragni re same; (iv) email response from Short re same; email reply to Short re same; email reply to Booth re same; email reply to Morgan re same (.3); study/analysis (i) email from Scanlan re mediation; (ii) email from Sutherland re same; email reply from Tierney re same; (ii) email reply from Sutherland re same; (ii) email reply from Sutherland re same; (.1); Study/analysis (i) email reply from Tierney re same; (ii) email reply from Sutherland re same (.1). | \$425.00 | 1.20 | \$510.00 |
| 06/01/05 | Review claims of debtor regarding offset of BellSouth and response. | \$390.00 | 2.30 | \$897.00 |

| Date | Questionable Work Description | Billable Rate | Total Hours | Total Amount |
|----------|---|---------------|-------------|--------------|
| 06/01/05 | Continue analysis and research of BellSouth motion and response regarding setoff; conferences with Steve Goodwin and | \$260.00 | 2.00 | \$520.00 |
| | Don Hanmer regarding Committee's position upon same. | | | |
| 06/02/05 | Continue analysis regarding BellSouth setoff issues; draft joinder regarding same. | \$260.00 | 1.50 | \$390.00 |
| 06/02/05 | Assist Hanmer regarding BellSouth carrier agreements. | \$100.00 | 0.30 | \$30.00 |
| 06/03/05 | Call from S. Youngman regarding committee position on BellSouth (.2); discuss call and action with J. Salisbury (.3). | \$390.00 | 5.00 | \$1,950.00 |
| 06/03/05 | Continue analysis of BellSouth motion; conference with Holly Warrington regarding status of same; conference with Steve Goodwin and update from Committee regarding actions. | \$260.00 | 1.00 | \$260.00 |
| 06/06/05 | Telephone call from Mr. Bennett requesting SBC representative be included in the RTFC mediation proceeding (.4); study/analysis (i) email response from Mr. Sutherland regarding same; email reply from Ms. Sparks regarding same (.1); (iv) email from Ms. Morgan regarding RTFC mediation participation (.1). | \$425.00 | 0.70 | \$297.50 |
| 06/07/05 | Email to Mr. Gerber advising that the Committee intends to file the adversary complaint that the Committee intends to file the adversary complaint against RTFC on Friday; study/analysis email response that he is passing on the filing of adversary to his clients; telephone call from Mr. Gerber regarding timing of filing adversary against RTFC (.3). | \$425.00 | 0.30 | \$127.50 |
| 06/08/05 | Conferences with Don Hanmer and Steve Goodwin regarding Committee's role in carrier disputes | \$260.00 | 0.50 | \$130.00 |
| 06/08/05 | Telephone call from Mr. Green of BellSouth regarding forming a sub-committee of Committee to attend and participate in mediation of RTFC (voice mail) | \$425.00 | 1.60 | \$680.00 |
| 06/09/05 | Conferences with Debtor's counsel regarding their response to BellSouth's objection to their setoff motion and status of hearing on the 17th regarding same. | \$260.00 | 0.30 | \$78.00 |
| 06/09/05 | Study/analysis email from Ms. Sparks to Committee advising of intent to file adversary complaint against RTFC on 6/10/05; (ii) email from Mr. Eagle requesting copy of complaint; (iii) email response from Ms. Sparks regarding same; (iv) email response from Mr. Greene regarding same. | \$425.00 | 0.10 | \$42.50 |
| 06/10/05 | Analysis with Don Hanmer regarding outstanding setoff issues with respect to the Carriers. | \$260.00 | 0.30 | \$78.00 |
| 06/10/05 | Email from Mr. Gerber requesting when he will receive the Committee Complaint; email response to Mr. Gerber regarding same; study/analysis email reply to Mr. Gerber regarding same; study/analysis email reply from Mr. Gerber confirming he is authorized to accept service on behalf of RTFC; email to Messrs. Stewart, Cunningham, Hoffman, Averch, Wallander, Lee, London, Gerber and Greendyke advising Committee's intent to file adversary against RTFC today (2); telephone call from Mr. Gerber regarding status of adversary; email response to Mr. Gerber regarding same; study/analysis email reply from Mr. Gerber regarding same (.1). | \$425.00 | 0.30 | \$127.50 |
| 06/13/05 | Reviewing memorandum regarding legal claims | \$355.00 | 1.00 | \$355.00 |
| 06/13/05 | Email regarding filing of the complaint for RTFC and read the same (.4) discussed project research with J. Covin (.2). | \$185.00 | 0.60 | \$111.00 |
| 06/15/05 | Legal research regarding carrier issues. | \$260.00 | 1.80 | \$468.00 |
| 06/15/05 | Study/analysis (i) email to Committee members regarding filing adversary proceeding against RTFC and transmitting pleadings, scheduling order and summons. | \$425.00 | 0.10 | \$42.50 |
| 06/16/05 | Draft memorandum regarding carrier setoff issues. | \$260.00 | 1.90 | \$494.00 |
| 06/17/05 | Analyze RTFC's intervention in SBC adversary proceeding. | \$260.00 | 0.40 | \$104.00 |
| 06/17/05 | Study/analysis (i) [RTFC's] Motion to Intervene in Adversary Proceeding; (ii) Complaint in Intervention filed by RTFC in the VarTec v. BellSouth et al. adversary proceeding. | \$425.00 | 0.60 | \$255.00 |

| Date | Questionable Work Description | Billable Rate | Total Hours | Total Amount |
|----------|---|---------------|--------------------|--------------|
| 06/17/05 | Study/analysis; preparation for hearing; hearing regarding Exclusivity, BellSouth, Scheduling issues on setoff, W&C interim fee application and termination of ESOP plan | \$425.00 | 1.90 | \$807.50 |
| 06/20/05 | Preparation for meeting; participate in meeting as chair regarding IR Settlement, Leucadia APA, Bid and Sale procedures issues; RTFC Mediation; RTFC intervention in BellSouth's litigation; 2004 exams regarding D&O's and related matters (1.4); study/analysis (i) schedule of related; adversary actions, including status. | \$425.00 | 1.50 | \$637.50 |
| 06/21/05 | Review documents regarding RTFC intervention in BellSouth dispute (.3); review motion of RTFC (.3). | \$390.00 | 0.60 | \$234.00 |
| 06/21/05 | Study/analysis (i) email from Mr. Covin regarding RTFC's Motion to Intervene in Debtors' adversary proceeding against BellSouth, et al.; (ii) draft proposed email memorandum to Committee Members regarding same; (iii) email response from Mr. Sutherland providing comments on draft email to Committee; (iv) email reply from Mr. Covin regarding same; (v) email response from Mr. Sutherland regarding same. | \$425.00 | 0.20 | \$85.00 |
| 06/22/05 | Conference with Ms. Sumoski regarding intervention of RTFC with BellSouth adversary proceeding; Study/analysis (i) email from Ms. Sumoski regarding same; (ii) email response from Mr. Scanlan regarding same; (iii) email reply from Mr. Covin regarding same (.2); (iii) email from Mr. Covin regarding BellSouth adversary; (iv) draft stipulation and order regarding matters in connection with Debtors' adversary proceeding against BellSouth and United Missouri Bank, N.A. (.3); telephone call with Mr. Gerber requesting possible stipulation regarding intervention (.2); (vii) email memorandum from Mr. Greene of BellSouth regarding comments to bid procedures. | \$425.00 | 0.90 | \$382.50 |
| 06/23/05 | Study/analysis (xii) email from Mr. Rosenblatt regarding BellSouth objection; (xiii) BellSouth's Objection to Expedited Motion to Approve Sale Procedures. | \$425.00 | 0.10 | \$42.50 |
| 06/23/05 | Study/analysis (iv) email from Ms. Miller to Committee re BellSouth Intervention in BellSouth litigation. | \$425.00 | 0.70 | \$297.50 |
| 06/24/05 | Study/analysis (i) email from Ms.Barnhouse regarding possible stipulation with RTFC in connection with carrier disputes; (ii) email response from Mr. Sutherland regarding same; (iii) email response from Ms.Hinson regarding same; (iv) legal memorandum from Ms. Chen regarding(.4); (v) email from Mr. Covin regarding draft stipulation between Committee and RTFC regarding carrier disputes; (vi) draft stipulation and order regarding certain matters in connection with debtors' adversary proceeding against BellSouth and United Missouri Bank, N.A.; (vii) email response from Ms. Sumoski with comments on draft stipulation (.4). | \$425.00 | 0.80 | \$340.00 |
| 06/24/05 | Assist Sutherland and Covin and preparation of objection to sale of assets, including locating RTFC claims information and UCC reports regarding net proceeds of sales. | \$100.00 | 0.70 | \$70.00 |
| 06/27/05 | Review and analyze draft of stipulation. | \$390.00 | 0.20 | \$78.00 |
| 06/27/05 | Review proposed stipulation to be entered in BellSouth adversary proceeding. | \$260.00 | 0.40 | \$104.00 |
| 06/27/05 | Respond to Ragni request for stipulations regarding RTFC investigation fees. | \$100.00 | 0.20 | \$20.00 |
| 06/27/05 | Study/analysis (i) email from Ms. Morgan regarding schedule for mediation; (ii) email response from Ms. Sparks regarding same. | \$425.00 | 0.10 | \$42.50 |
| 06/28/05 | Study/analysis (ii) revised draft Stipulation and order regarding certain matters in connection with debtors' adversary proceeding against BellSouth and United Missouri Bank, N.A. (.3); (ix) email from Mr. Covin to Mr. Gerber transmitting draft proposed stipulation and order regarding BellSouth litigation (.1). | \$425.00 | 0.40 | \$170.00 |
| 06/28/05 | Study/analysis (ii email from Mr. Greene requesting meeting before RTFC mediation; email response to Mr. Greene). | \$425.00 | 0.10 | \$42.50 |
| 06/29/05 | Review issues on stipulation with J. Covin and join in call to T. Gerber regarding stipulation. | \$390.00 | 0.30 | \$117.00 |
| 06/29/05 | Study/analysis email from Mr. Covin regarding his conversation with Mr. Gerber regarding draft stipulation; email response to Mr. Covin requesting that he circulate draft stipulation to BellSouth and UMB. | \$425.00 | 0.10 | \$42.50 |

| Date | Questionable Work Description | Billable Rate | Total Hours | Total Amount |
|----------|---|---------------|-------------|--------------|
| 06/29/05 | Study/analysis (i) email from Ms. Sparks to Committee Members regarding schedule for mediation; (ii) email response from Mr. Scanlan regarding same; (iii) email reply from Ms. Sparks regarding same; (iv) email from Ms. Sparks to Committee regarding lodging for mediation; (v) email response from Mr. Greene regarding same; email reply to Mr. Greene regarding same (.2); (vi) email from Ms. Miller regarding Thursday meeting; (vii) email response from Mr. Greene regarding same; (x) email response from Mr. Eagle regarding same; (x) email response from Mr. Eagle regarding same; (x) email response from Mr. | \$425.00 | 0.30 | \$127.50 |
| | | | | |
| | Total | | | \$23,469.00 |